
 
 

Sơ đồ máy GST 25M 

 
 

STT Mã sản phẩm Tên sản phẩm 

1 1619P07202 Motor Housing   . 

2 1619P05382 Field  230V . 

3 1619P05282 Armature  230V . 

3/6 1619P05243 Fan   . 

4 1619P07689 Switch   . 

5 1604460398 Power supply cord  EU 2,65m 2x1 H05 VV-F . 

6 2600703027 Grommet  Ø6,5-Ø6,9x95 MM . 

7 2601035001 Cable Clip   . 

9 1619P07313 Manufacturer's nameplate  GST 25M . 

13 1900905018 Deep-Groove Ball Bearing  7x22x7 . 

14 1610905005 Deep-Groove Ball Bearing  9x24x7 . 

16 2601323021 Brush Holder   . 

19 2603490022 Torx Oval-Head Screw  4x16 . 

21 2604652009 Spiral Spring   . 

22 1619P00220 Torx Oval-Head Screw  3x10 . 

23 1619P07541 Retaining snap ring   . 

24 1619P07190 Fork Lever   . 

26 1619P07542 Screw Cap   . 

28 2604448034 Connecting Cable  L=88 MM WHITE 

29 2600101027 Shim Ring  0,3 MM . 

30 2600150004 Shim   . 

31 1619P07418 Speed governor   . 

32 2600290060 Magnetic Disk   . 

33 2603435015 Recessed-Head Screw  DIN 7981-ST3,5x9,5-F . 

34 1619P07186 Cover Disc   . 

35 1619P00428 Spring retaining ring   . 

36 2600590006 Ratchet Cap   . 



 
 

Sơ đồ máy GST 25M 

 
 

37 1619P07193 Rotary Knob   . 

38 1619P07188 Rotary Knob   . 

39 1619P08820 Connecting Cable   . 

40 1619P00444 Locking Washer   . 

41 2600100568 Shim  0,5 MM . 

42 1619P07205 Fan Cover   . 

44 2910141197 

Hex Socket Head Cap Screw  DIN 912-M6x16-

8.8 . 

45 1619P07596 Shim   . 

47 2916080907 Locking Washer  4 DIN 6799 . 

48 2915011007 Hex Nut  DIN 934-M6-8-A . 

50 1619P07546 Thread-forming tap. Screw   . 

51 2600100515 Shim  0,3 MM . 

53 1619P07650 Thread-forming tap. Screw   . 

54 1619P07191 Counterweight   . 

55 1619P08936 Covering hood   . 

56 1619P07192 Eccentric Cog Wheel   . 

57 2600913040 Needle-Roller Assembly   . 

58 2600101047 Shim  0,3 MM . 

59 2916640905 Spring retaining ring  8x0,8 N31A MR7 . 

60 1619P08926 Ring   . 

63 1619P07194 Seal   . 

66 2603410048 Thread-forming tap. Screw  M4x8 . 

67 2604613000 Compression Spring   . 

68 2601322010 Guide Bracket   . 

69 2600780177 Lifting Rod   . 

70 1619P06451 Clamping Saddle   . 

71 2602317053 Sliding Piece   . 



 
 

Sơ đồ máy GST 25M 

 
 

72 2603421040 

Countersunk-Head Screw  DIN 7962-M3,5x8-

10.9 . 

73 2600112031 Supporting Disc  0,5 MM . 

74 2600290017 Seal  ring  0,5 MM . 

75 2600101612 Shim  0,5 MM . 

76 1619P07544 Fastening Plate   . 

77 1619P07545 Sealing Plate   . 

78 1619P07597 Sticker   . 

79 1619P07318 Roller Lever   . 

83 2917530101 Straight Pin  DIN 6325-4M6x24 . 

86 1619P09244 Rotary Handle   . 

87 2600423006 Carrier Bracket   . 

88 1619P06265 O-Ring   . 

89 2606491011 Ratchet   . 

90 2606491014 Coupling Half   . 

91 1619P00446 Shim   . 

92 2604610040 Compression Spring   . 

93 2604617004 Compression Spring   . 

94 2600421001 Guide Sleeve   . 

95 2603490011 Clamp Screw   . 

96 1619P07199 Base Plate   . 

97 1619P07200 Set Of Handles   . 

98 1619P07196 Protective Cover   . 

651 2601016065 Splintering Protector   . 

653 1907950006 Offset Screwdriver  DIN 911-SW5 BLACK 

808 1619P08857 Nameplate   . 

810 2604320912 Carbon-Brush Set   . 

843 1619P09136 Gear Housing   . 



 
 

Sơ đồ máy GST 25M 

 
 

861 2600917900 Needle bearing   . 

865 1619P09137 Gear Cover   . 

881 1619P09138 Guide Roller Set   . 

899 1619P09139 Ratchet   . 
 

 


